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Lesson 4
Relationship between two meeting letters !.
part (2)revision
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1.What is the definition of:

% ldgham

* ldgham motamathelyn (merge of two alike)
* ldgham motjansyen (merge of two similar)
* ldgham motgarbyen (merge of two close)
» Two alike letters

% Two similar letters

%+ Two close letters
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2.What is the rule for two alike letters meeting in the
following examples :

" callall |slee 3 1 kel oyl "

................... "l 5053l cpdllg "

.................... " ‘Jmij ‘ﬁ\(ﬁ"
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3.Explain the reason for preventing idgham in the following:

shadows /w((/.///z(/

") 53 ) shayl 55" -1

" aede 5 SN WKILAS, 5D
" Qbae) 5es " -3

"o d" 4

" Al slall ™ 5
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4 Name the rule of the underlined words :

{atdals e ol Al e el ) -1

{ e sle e Salas A } -2

{ Y e Y oal g o Gal Gl ) o ol } -3
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5. Name the type od idghaam in the following :
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Find in the previous verse :

1. ldgham motjanseen (merge of two similar)
2. Idghaam motmathlyn (merge of two alike)

3. Idhgham motqgarbyn (merge of two close)
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7.Choose the correct answer :

1. In order to achieve idgham the first letter should :
1) have sukon 2)have vowel 3) be a madd letter 4)be leen letter

2. In order to achieve idgham the second letter should :
1) have sukon 2)have vowel 3) be a madd letter 4)be leen letter

3. We read in the quran whe there is idgham ,the first letter does not have any
vowels and the second letter has a
1) shaddah and vowel 2)only dammah 3)only fatha 4)sukkon

4.The two letters which have same articulation point and different characteristics :
1) two alike  2)two similar 3)two close 4)two far

5.The two letters which have same articulation point and same characteristics :
1) two alike  2)two similar  3)two close  4)two far

5.The two letters which have close articulation point or close characteristics or
close characteristics and articulation point :
1) two alike  2)two similar 3)two close 4)two far
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7.Choose the correct answer :

NMAOIC 6. The rulein ( &igss ):
shados acadny— 1) merge of two similar  2) merge of two alike 3) merge of two close 4)show clear

7. Therulein ( &3 i 3 ):
1) merge of two similar 2) merge of two alike 3) merge of two close 4)show clear

8. The rule in (pSS_ 15585 Lai ):
1) merge of two similar 2) merge of two alike 3) merge of two close 4)show clear

9. The rule in (lsimalg )38 a3 ):
1) Show clear because they are far 2) merge of two alike 3) merge of two close 4)show
clear because of “sakt & “

10. The rule in (b s))):
1) merge of two similar without ghunna 2) merge of two similar with ghunna 3) merge of
two close with ghunna 4) merge of two close without ghunna

http://www.arabicshadows.com/public/index.php



/2%
'vj" “A“’* 7.Choose the correct answer :

Mw 11. The rule in ( s%:)in sorat ynus :

shades acndery 1) merge of two similar  2) merge of two alike 3) merge of two close 4)show clear

12. Therule in (&bl ):
1) Incomplete merge of two similar 2) complete merge of two similar 3) Incomplete
merge of two close 4) complete merge of two close

13. The rule in (aSSU )53 585 Ll ):
1) merge of two similar 2) merge of two alike 3) merge of two close 4)show clear

14. The rule in (U 34k 43 Laaiy):
1) Merge two alike 2) ikhfa 3) iglab 4)show clear

15. The rule in (é\f & J2 ) is to show clear (izhar) because of :
1) Two letters are far 2) sakt 3) because ¢ has a vowel 4) answer (1+2)
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bjﬁ& 7.Choose the correct answer :
Ww 16. The letter ¢ and the letters ( sz ):

shadews ey 1) similar  2) alike 3) close 4)far

he similar letters which merge together :
) 2),,d 34,3 4) smad, sleen

18. When »meem with sukkon is followed by letter ba < theruleis:

1) Ikhfaa shafawi 2) iglab 3) merge of two similar 4)show clear izhar

19. When J in 4 is followed by letter seen -« in the word sl the rule is :
1) merge of two alike 2) merge of two close 3) merge of two similar 4)show clear izhar

20. When J in- is followed by letter hamza | in the word o=_% the rule is :
1) merge of two alike 2) merge of two close 3) merge of two similar 4)show clear izhar

21. Therulein (lsnlas)ysmal ):
1) merge of two similar  2) merge of two alike 3) merge of two close 4)show clear
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ww 7.Choose the correct answer :

shadows (mn(/m///

o ° - _
22. Therule in (4ddhalu o b 4k e 2 L )in case of sakt :
1) merge of two similar 2) merge of two alike 3) merge of two close 4)show clear

23. Therulein (Je(n):
1) merge of two similar 2) merge of two alike 3) merge of two close 4)show clear

24. To say that two () or two () are alike they must :
1) Have same articulation point 2) look alike in writing 3) are pronounced the same way
4)all of the answers

25. The term that mean : (to merge a letter with sukkon with a voweled letter to become
one letter (which is the second letter ) with shaddah )

1) Idgham “merge” 2) merge of two alike  3) merge of two simila 4) merge of two
close
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